INSTRUCTION
Residual torque measurement with the”Back to mark” method.
[bookmark: _GoBack]When a screw joint has been left for a longer time (>10 hours) and/or exposed to external load or heat, or when increased stresses on the screw material must not be generated during measurement, residual torque is measured by means of “Back to mark”.
This is done in the following way:

1. Identify the joint of interest

[image: cid:9bd9924b-55ec-4d4d-bf30-599acd970b20@mgd.volvocars.com]



2. Make a mark from the screw head

[image: cid:f17f10ed-3582-4379-b3f8-a54f31f4a355@mgd.volvocars.com]


3. Down to the base

[image: cid:3f76b7c6-2804-4314-8518-187f9bdb92d0@mgd.volvocars.com] [image: cid:5e4fdd3c-8704-4e0d-9ffa-1ab36191840a@mgd.volvocars.com]




4. Add the digital torque wrench

[image: cid:09163d68-07fa-427e-b5bf-eb7169d6d2e2@mgd.volvocars.com]








5. Loosen some ten degrees

[image: cid:e89cf2ca-7e98-4156-9eda-356ad45b7db4@mgd.volvocars.com]




6. See how the mark on the screw head is now in a different position

[image: cid:daecc63d-5d84-4903-9103-5d8c5f4a9576@mgd.volvocars.com]



7. Add the digital torque wrench again

[image: cid:d589ec6f-4fbb-4c19-b141-1ac73b9cb192@mgd.volvocars.com]




8. Tighten back to the mark on the base

[image: cid:ca163622-7f7a-4dcf-a270-fd1869d5a729@mgd.volvocars.com]



9. Read the torque in the digital torque wrench display

[image: cid:1bc7d6f7-3408-4f94-9e00-5e9aecf8a350@mgd.volvocars.com]





10. Check that the mark was back to the starting position
[image: cid:b5d099cd-c484-479f-9df6-bd31f9a03a24@mgd.volvocars.com]

11. The read torque of 5.2Nm can now be considered as the residual torque



If the screw during this measurement did not separate and gave a torque above half the assembly torque the joint can be considered OK.


Best regards /Christer Larsson and Thomas Hermansson +463152387
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